s Secretariat
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Khaled Mahmud Raihan FCCA
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Managing Director




Meet the Coach:

2012-Till to Date
Managing Director’s Secretariat

Corporate Investment Division
Financial Administration Division as Divisional Head

| 2012
;Ac-tgbank Head of Audit and Risk Rating

Risk Management Division

CRINL, 2006-2012

5;;9;;@W“'ww Chief Rating Officer (CRO)

(0 STEUNNERSITY  200=-2090
W OF BANGLADESH Assistant Professor

School of Business

<EESEe.  2003-2005
Lecturer

School of Business




Meet the Keynote Coach:

BBA, MBA (Major in Banking)
Department of Finance & Banking,

e eem®= UNiversity of Dhaka

Fellow Member
Association of Chartered Certified Accountant
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CGA Fellow Member
’l Certified General Accountants of Bangladesh
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Diplomat Associate
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Statistics 1: Success Rate of Part-11 Exams (November 2022)

r Candidates Pass Rate in November, 2022 Exam (Part-1)
Rate

Investment Mgt. 56% MF and Rural Banking _
202 International Trade 664 49% E-paniing GO
203  Ethics in Banking 500 58% vigt. accounting et D
204 MA&FM 663 34% Ethics i Banking [ SS)
205 E-Banking B D
206  MF and Rural Banking 430 74% T |

Investment Mgt.

9/16/2023 5



Statistics 1: Success Rate of Part-11 Exams (May 2023)

Rate

Investment Mgt. 53% ME and Rurai Banking. RN

202 International Trade 510 42% E-Banking T aw )
203  Ethics in Banking 389 41% —
204 MA & FM R 37% Ethics in Banking —
205 Eanking I ——

International Trade
206  MF and Rural Banking 314 71% —m—

Investment Mgt.

9/16/2023



Statistics 2: Historical Pass Rate of MA & FM Exam

Examination No. of Pass Rate HISTORICAL PASS RATE IN MA & FM (%)
Candidates (%)

May, 2023 473 37%

November, 2022 663 34% el

May, 2022 e seos —

October, 2021 986 48% e 2020 [

April, 2020 655 22% ocToBER, 2021
October, 2019 879 31% MAY, 2022 a5%

April, 2019 517 33%

October, 2018 626 28% MAY, 2023

9/16/2023
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Execution

* Determination
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* Risk Taking Attitude
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Risk Management
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Owner: White Star Line (UK)

Time to Complete: 3 years (1909-1912)
Cost: GBP 1.5 Million

Weight: 52,310 DWT

Port Registry: Liverpool, UK

Route: Southampton to New York City
Voyage 10 April, 1912
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Summary of Course Contents

Management Accounting:

1. Introduction:
Management Accounting, Financial Accounting, Cost Accounting: Their Relationship and Implications

2. Cost-Volume- Profit Analysis:
Break even Point (BEP): Units and Amount, Margin of Safety, Implications of Increase/decrease of
Variable/Fixed costs on BEP

3. Financial Analysis and Planning:
Sources of Financial Information- Income Statement and Balance Sheet, Statement of Changes in
Financial Position- Fund Flow and Cash Flow Statement - Ratio Analysis, Financial Spread Sheet

4. Absorption and Variable Costing:
Absorption Costing Vs. Variable Costing: Calculations, Implications, Advantages and Disadvantages and
Reconciliations

5. Budgeting For Planning and Control:
Basic Framework of Budgeting: Master Budget & Cash Budget, Preparation of Cash and Flexible Budget

9/16/2023 14




Summary of Course Contents

Financial Management:

1. Time Value of Money:
Concept of Present Value, Future Value, Annuity, Perpetuity, Islamic Concept of Time Value of Money

2. Capital Budgeting:
Non Discounted Cash flow Techniques: Accounting Rate of Return (ARR), Pay Back Period (PPB)
Discounted Cash flow Techniques: NPV, IRR, PI, Capital Rationing and their Applications on Business

3. Working Capital Management, Short, Medium and Long Term Finance:
Different Financing Mix: Short Term Financing Vs. Long Term Financing

4. Lease Financing :
Types of Lease Financing: Operating Lease Vs. Financial Lease, HPSM and their Implications

5. Cost of Capital and Dividend Policy:

Components of Cost of Capital: Cost of Common Stock, Cost of Preferred Stock and Cost of Debt
Weighted Average Cost of Capital, Marginal Cost of Capital, Cost of Capital in Islam

Types of Dividend Policy, Factors influencing Dividend Policy, Rationale of High and Low Pay-Out Ratio

9/16/2023 15




Exam Pattern

* There are 8 (eight) guestions having 4(four) guestions each from Management Accounting Section
and Financial Management Section.

« Each Question carry 20 (twenty) marks.

* You have to answer 5 (five) questions at least 2 (two) guestions from each section.

« Generally, there is a_full theory type guestion in Management Accounting Section which usually
contains financial accounting, management accounting and cost accounting issues with implications in
banking business

 There is a short note type guestion in Management Accounting Section where you have to answer 5
(five) short notes out of 8 (eight) short notes.

« Other 6(six) guestions carry math/calculations with very low weighateg of theory

9/16/2023




Examiner’s Review & Tips

To Do:

« Plan for the exam. Make proper time management

« Give sufficient reading and planning time for the questions and take note of key points

« Start answering the questions which you are most confident

« Be very precise and specific in answering question. The examiner always wants to see the key words
In your answer

» Follow all the procedures in solving problems. Give your examiner the impression that you know the
solution

« Show your calculations and workings wherever required

9/16/2023 17



Examiner’s Review & Tips

Not to Do:

« Do not enter exam hall without preparation. You can not try your luck!!

« Do not start your answer with theory which might create negative impression on the examiner

« Do not write unnecessary and irrelevant remarks in your answer script. You should not consider your
examiner a stupid !!

« Do not break the sequence in answering questions. If you are unable to answer a part of a specific
guestion, keep a space to attempt it later

« Don’t be stuck up in a particular problem. Leave it for a moment, attempt another question and come
back to the question later

9/16/2023 18



Why Understanding Basics?

» Build your confidence level

» Immensely benefit you in your day to day banking affairs

Help in understanding problems and finding solutions

Increase your professional skill (Knowledge Vs. Degree)

>
» Increase the possibility of your success rate in the exam
>
>

Help to grow your career

It AN



MANAGEMENT
ACCOUNTING
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Understanding the Basics

‘Financial
Management Accounting , Financial Accounting and Cost Accounting :| Bl

Deals with collection of data and Deals with preparation of Profit
classification and and Loss Account and Statement

Information,
analysis

for

helping the of Financial Position in a specific

management to make managerial time interval

decision
It is related with present, past It is only related with past thus it
and future Is like a postmortem report

There is no regulatory timeframe It is prepared in a regular interval
to prepare management and there is a regulatory
accounting report requirement; like yearly,

semiannually, quarterly etc.

It does not require auditing and It requires mathematical
mathematical accuracy is also accuracy and mandatory

not required

requirement for auditing

Deals with determination of cost
of a product/services, cost control
and analysis of cost/expenditure
for helping management to make
decision

It is a part of management
accounting

It is prepared as and when
required basis

No such requirement of
mathematical accuracy and
auditing



Cost Elements

Understanding the Basics

Costs and Cost Elements:

« Costis the amount of expenditure which is either incurred (actual) or notional (attributable) relating
to a specific thing or activity. Cost can be classified from different dimensions:

A. Natural Characteristics:

I. Raw Materials is the main component of production process.
Direct Raw Material- Fabric for Garments Industry, Wood for Furniture, Cotton for Spinning Industry etc.
Indirect Raw Material- Yarn, accessories for Garments Industry

ll. Labour includes both wages and salaries for workers and employees
Direct Labour- Directly related with production; like wages for workers
Indirect Labour —Not directly related with production; like salary of the factory employees

Ili. Other Expenses includes costs other than raw materials and labour for conversion to finished goods
Direct Expenses-Electricity, gas, water, depreciation of machineries, maintenance relating to production
Indirect Expenses- Factory rent, depreciation of other machineries etc.

9/16/2023 22
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Understanding the Basics ot P
-Material  Direct?
LaDOUT  jngirecty

Costs and Cost Elements: Overhead

B. Changes in the Level of Activity:
I. Fixed Cost is the cost that does not change or remain unchanged at the change (increase/decrease)
of the production level. Example- Factory Rent

Il. Variable Cost is the cost that is proportionate to the change in production level. Example- Raw

material
li. Semi-Variable Cost is the cost that changes with production level at a disproportionate rate.

Example-Depreciation of machineries and maintenance cost etc.

C. Nature of Function;

I. Production Cost: The costs that are directly related with production
=Direct Material+ Direct Labour+ Direct Expenses+ Other factory overheads
. Administrative Expenses: All indirect expenses relating to administration and management.
Example-Salary and allowances of employees
li. Selling & Distribution Expenses- Advertisement cost, salary/commission of selling agent/employee
Freight out, Salary of distribution agent etc.

9/16/2023 23



Understanding the Basics

Costs and Cost Elements: Cost Sheet

1. Prime Cost: Costs Directly Related with Production

9/16/2023

(Direct Materials*+ Direct Labour+ Direct Expenses)

*Direct Materials= (a) Opening Stock Raw Materials

(+) Purchase of Raw Materials

(-) Purchase Discounts
(-) Purchase Returns
(+) Carriage in/ Freight In
(b) Cost of Purchase

(a)+(b) = Cost of Raw Materials Available for Use
(c) (-) Closing Stock of Raw Materials

(a)+(b)-(c) = Direct Materials Consumed

Cost Accournting
Elements Of Cost
-Material  Direct?
-Labour :
s Indirect?

24



Understanding the Basics

Costs and Cost Elements: Cost Sheet

2. Total Manufacturing Cost: Prime Cost + Total Factory Overheads*

Cost Accountiig
Elements Of Cost
-Material  Direct?
-Labour '
s Indirect?

*Factory Overheads= All factory related costs that are not directly related with production

(Indirect Materials, Indirect Labor, Factory Fuel and Power, Coal, Gas,
Water, Factory Manager’s Salary, Factory Rent & Taxes, Factory Lighting
and Fighting, Factory Repairs, Worker’s Welfare Expenses, Insurance

Premium for Factory, Depreciation of Plant & Machineries)

3. Cost of Goods Manufactured = Total Manufacturing Cost

(+) Beginning Work-in-Process (WIP) Inventory
(-) Closing Work-in-Process (WIP) Inventory

4. Cost of Goods Sold (COGS) = Cost of Goods Manufactured
(+) Beginning Finished Goods Inventory
(-) Closing Finished Goods Inventory

5. Total Costs = Cost of Goods Sold+ Administrative Expenses+ Selling Expenses

9/16/2023
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Cost Elements

Understanding the Basics

Costs and Cost Elements: Link with Income Statement
Income Statement for the Year Ended 2020

Sales ok %
Less: Cost of Goods Sold (COGS) ko
Gross Profit (a) * o
Less: Administrative Expenses *k
Less: Marketing & Selling Expenses S
Total Operating Expenses (b) k%
Net Profit from Operation/Operating Profit [(a)-(b)] ek
Add: Non Operating Income o
Earnings before Interest and Tax (EBIT) * %
Less: Interest/Profit paid to banks/Fls (**)
Earnings Before Tax(EBT) * %
Less: Income Tax (**)

9/16/2023 Net Profit After Tax e 26



Understanding the Basics

Contribution Margin, BEP and Margin of Safety

Breakeven Point:

In accounting, the breakeven
point is the production level at
which total revenues equal total
expenses. That is, it is a no profit,
no loss situation

* Blue dotted line indicates fixed cost

» Orange Line shows total cost; i.e.,
variable cost+ Fixed Cost

» Green Line shows total revenue

» The Point at which total revenue line
intersects with total cost line is the
breakeven point

9/16/2023

BREAK EVEN POINT GRAPH

TOTAL
REVENUE

Breack-even
poin

TOTAL COST

$ - X
5 Units sold 8

designed by & freepik
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Understanding the Basics

Contribution Marqgin (C/M), BEP and Margin of Safety

C/M= (Sales-Variable Cost) or C/M Per Unit= (Sales/unit-Variable Cost/unit)
C/M Ratio= (Sales-Variable Cost)/Sales [C/M Ratio is also known as Profit Volume (P/V) Ratio]

Breakeven Sales in Tk. = Fixed Cost/Contribution Margin Ratio
Breakeven Sales in Unit = Fixed Cost/C/M Per Unit

Margin of Safety (M/S) in Tk. =Sales-EBP Sales
Margin of Safety (M/S) Ratio = Margin of Safety/Sales

Required Sales (Value) for Desired Profit = (Fixed Cost+ Desired Profit)/C/M Ratio
Required Sales (Unit) for Desired Profit = (Fixed Cost+ Desired Profit)/C/M per unit

Go Back

9/16/2023 28




Understanding the Basics | o m

Variable Absorption
Costing Costing

Costing: Absorption Costing Vs. Marginal/Variable Costing

Absorption Costing:
Absorption costing is a method for accumulating fixed and variable costs associated with the production
process and apportioning them to individual products. Thus, a product may absorb a broad range of costs.

Absorption Costing Components:

Direct Materials: Those materials that are included in a
finished product.

Direct Labour: The factory labor costs required to construct
a product.

Variable Manufacturing Overhead: The costs to operate a
manufacturing facility, which vary with production volume. =
Examples are supplies and electricity for production AHEE}FP[IUH
equipment. I:US“”'E]
Fixed manufacturing Overhead: The costs to operate a
manufacturing facility, which do not vary with production Formula
volume. Examples are rent and insurance.

(Dirgct Labor Cost + Direct Materal Cost +
Variable Manufacturing Overhead Cast #
Fixed Manutactunng Overhead)

humber of Units Producad

9/16/2023
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http://www.accountingtools.com/definition-cost

Understanding the Basics
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Costing: Absorption Costing Vs. Marginal/Variable Costing

Variable Absorption
Costing Costing

Marginal/Variable Costing:

with the production process.

Variable costing is a concept used in managerial and cost accounting in which the fixed manufacturing
overhead is excluded from the product-cost of production. It includes only the variable costs associated

Variable Costing Components:

Direct Materials: Those materials that are included in a
finished product.

Direct Labour: The factory labor costs required to
construct a product.

Variable Manufacturing Overhead: The costs to
operate a manufacturing facility, which vary with
production volume. Examples are supplies and
electricity for production equipment.

Fixed manufacturing Overhead: Excluded from
Variable Costing Method

9/16/2023

(Direct Labour Cost + Direct
Raw Material Cost + Variable

Variable  Manufacturing Overhead)

Costin
Formu

Pa - Number of Units Produced

P
il
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Understanding the Basics

VS

Absorption
Costing

Variable
Costing

Absorption Costing Vs. Marginal/Variable Costing: Differences

Product Costing and
Inventory Valuation

Implication of Fixed Cost
on Profitability of
Products

Presentation of Data

Implication of Opening
and Closing Stock on unit
cost of Production

For product costing & inventory valuation,
only variable cost is considered

Fixed cost is considered as period cost &
profitability of different products is judged
by Profit/Volume ratio (P/V ratio)

The presentation of data is so oriented that
total contribution & contribution from each
product gets highlighted.

The unit cost of production does not get
affected by the difference in the magnitude
of opening stock & closing stock.

For product costing & inventory valuation,
both fixed & variable costs are considered.

Fixed cost is charged to cost of production.
A reasonable share of fixed cost is to be
borne by each product & thereby
subjective apportionment of fixed
overheads influences the profitability of
product.

The presentation of cost data is on
conventional pattern. After deducting fixed
overhead, the net profit of each product is
determined.

Due to the impact of the related fixed
overheads, the unit cost of production get
affected by the difference in the magnitude
of opening stock & closing stock.



Understanding the Basics el i =

Effects of Opening & Closing Stock on Profit: Absorption Vs. Marginal Costing

1. The results under both the methods will be same in situations where sales & production coincide i.e.,
there is neither opening stock nor closing stock.

2. Profit under absorption costing will be more than the profit under marginal costing, when closing
stock is more than the opening stock (Example with Calculation in the Next Slide). The reason behind
this is that, under absorption costing, a portion of fixed overhead, instead of being charged to the current
period, is charged to the closing stock & carried over to the next period.

3. Profit shown under absorption costing will be lower than the profit shown under marginal costing,

when closing stock is less than the opening stock. The reason behind this is that, under absorption
costing, to the current period, a portion of fixed cost related to previous year is charged.

9/16/2023 32



Understanding the Basics

VS|
Variable Absorption
Effects on Profit: Absorption Vs. Marginal/Variable Costing Costing Conig
ABSORPTION COSTING VARIABLE COSTING Reconcile
Particulars Oty [Per Unit |Amt (5) Particulars Gty [(Per Unit|Amt (5)
Revenue 600 | 100.00 60,000 Revenue 600 | 100.00 | 0,000 -
Less: Cost of Goods Sold: Less: Variable Cost of Goods Sold:
Add Beginning Inventory| - - Add Beginning Inventory| - -
“ariable Manufacturing Costs| 900 20,00 18,000 “ariable Manufacturing Costs| S00 20,00 | 13,000 -
Allocated Fixed Manufacturing Cests| =00 20.00 18,000 - 18,000
$15000/9000 Unks of Production =20
Cost of Goods Available for Sale 40.00 35,000 Costof Goods Available for Sale 20.00 | 1&,000
Deduct En::ling Inventory| 300 SO000| (12,000) Deduct En::ling Inventory| 300 200000 (5,000) (&,000)
Cost of Goods Sold /040 40.00 24,0040 Variable Cost of Goods Sold /040 20,00 | 12,000
“ariable Marketing Costs 800 16.50 9,500 (9,900)
Gross Margin 600 60.00 26,000 Confribution Margin 600 63.50 | 38,100
Wariable Marketing Costs 500 16.50 9,500 9,900
Fixed Marketing Costs 500 23.33 14,000 Fixed Marketing Costs 500 23.33 | 14,000
Fixed Manufacturing Costs 12,000 (18, 000y
Operating Income 12,100 Operating Income 6,100 &,000
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Understanding the Basics

. 7T =)
Budget: Master, Fixed, Flexible Budget and Cash Budget g@
Budget: .
A budget is a financial plan for a defined period, often for one The Master Budget: An Overview
year. It may also include planned sales volumes and Ldad
revenues, resource gquantities, costs and expenses, assets, Finished Goods ~
liabilities and cash flow il S Solling and

Administrative

Budge! Budget

What is a Master Budget? Diroct Direc Manuacuring
The master budget is the aggregation of all lower-level SHop Sicget Budget
budgets produced by a company's various functional areas, e

and also includes budgeted financial statements, a cash e

forecast, and a financing plan. {__Budgeted Financlal Statements _ |

Fixed Budget Vs. Flexible Budget:

A fixed budget is a budget that doesn't change due to any change in activity level or output level. The fixed
budget is static and doesn't change at all.

The flexible budget is a budget that changes as per the activity level or production of units.

9/16/2023 34
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Understanding the Basics

Budget: Master, Fixed, Flexible Budget and Cash Budget

Cash Budget:

A cash budget is an estimation of the cash inflows and outflows of a business over a specific period
of time. This could be for a weekly, monthly, quarterly, or annual budget. This budget is used to assess
whether the entity has sufficient cash to continue operating over the given time frame.

Importance of Cash Budget:
« |t allows a company to establish the amount of credit that it can extend to customers without having
problems with liquidity.

» A cash budget helps avoid a shortage of cash during periods in which a company encounters a high
number of expenses.

Components of Cash Budget:
The cash budget represents a detailed plan of future cash flows and is composed of four elements:

1.
2.

Cash Receipts (Cash Sales, Collection of Receivables, Other Income)
Cash Payments (Raw Materials, Payroll, Other Direct Expenses, Administrative and Selling Expenses,
Plant and Equipment and other payments

3. Net Change in Cash for the Period and
4.

New Financing Needed
9/16/2023 35




Understanding the Basics

Financial Statement Analysis

» Financial Statement Analysis:

« Financial statement analysis is the process of analyzing a company's financial statements for decision-
making purposes.

« External stakeholders use it to understand the overall health of an organization as well as to evaluate
financial performance and business value.

 Internal users use it as a monitoring tool for managing the finances as well as internal decision makinag.

» Techniques Used for Financial Statement Analysis:

1. Horizontal Analysis (Compares data horizontally, by analyzing values of line items across two or
more years)

2. Vertical Analysis (Vertical analysis looks at the vertical affects line items have on other parts of
the business and also the business’s proportions)

3. Ratio Analysis (Ratio analysis uses important ratio metrics to calculate statistical relationships)

» Components of Financial Statements:

1. Balance Sheet 2. Profit & Loss Statement 3. Cash flow Statement
9/16/2023 36
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Understanding the Basics

Financial Statement Analysis

What is Ratio Analysis?

Ratio analysis is a quantitative method of gaining insight into a company's liquidity, operational efficiency,

solvency and profitability by studying its financial statements such as the balance sheet and income
statement.

Comparisons of Ratio Analysis:

1. Internal Comparison: The analyst can compare a present ratio with past and expected future ratio for
the same company. When financial ratios are arrayed over a period of years, the analyst can study the
composition of change and determine whether there has been an improvement or deterioration in the firm’s
financial condition and performance over time.

2. External Comparisons and Sources of Industry Ratio: External comparison involves comparing the
ratio of one firm with those of similar firms (peer) or with industry averages at the same point in time. Such a
comparison gives insight into the relative financial condition and performance of the firm. It also helps us
identify any significant deviations from any applicable industry average/peer average

9/16/2023 37
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Understanding the Basics

Financial Statement Analysis

Dimensions of Ratio Analysis:

Ratio Analysis Types

[atl

Profitability
Ratios

%0

Soilvency Ratios

O,

Liguidity Ratios Tumover Ratios Eaming Ratios

Fixed Asset
Tumover Ratio

Gross Profit

. Current Ratio
Ratios

Debt Equity Ratio P/E Ratio

Interest Coverage

: Quick Ratio Inventory Earnings Per
Ratio

Tumover Ratio Share

Net Profit Ratios

Recervable Return on Net
Tumover Ratio Worth

Operating Profit
Ratios

Return on Capital
Employed ‘%) WallStreetMojo

9/16/2023 38
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Financial Statement Analysis

Dimensions of Ratio Analysis: Profitability

Financial Statement
Analysis

Profitability ratios measure a company’s ability to generate income relative to revenue, balance sheet

assets, operating costs, and equity.

RO —— oL IerPretation

Gross Profit Margin (%) Gross Profit / Net Sales

Operating Profit Margin (%) Operating Profit/ Net sales

Net Profit Margin (%) Net Profit/ Net Sales

Return of Assets (ROA) (%) Net Profit/ Total Assets

Return on Equity (ROE) (%) Net Profit/ Shareholders'
Equity

12/19/2021

»

>

>

Show how much profit a company makes from its
net sales after paying its cost of goods sold

Compares the operating income of a company to its
net sales to determine operating efficiency

Compares net profit of the company to its net sales
to determine the bottom line performance

Measures how efficiently a company is using its
assets to generate profit

Measures how efficiently a company is using its
equity to generate profit


https://corporatefinanceinstitute.com/resources/knowledge/finance/profitability-ratios/

Industry Average (NPM)

57
o
5
o
5
o
5 ¢
1113
*
7
24
25.30



Financial Statement Analysis

Dimensions of Ratio Analysis: Liquidity
Liquidity ratios are financial ratios that measure a company’s ability to repay short-term obligations. It
indicates the short-term solvency of the company.

Financial Statement
Analysis

Ratio_____ [Formula | Desired |Interpretation

Current Ratio (Times)

Quick Ratio (Times)

Cash Ratio (Times)

12/19/2021

Current assets / Current
liabilities

(Current assets — Inventories) /
Current liabilities

Cash and Cash equivalents /
Current Liabilities

Measures a company’s ability to pay off short-term
liabilities/obligations with current assets

Measures a company’s ability to pay off short-term
liabilities/obligations with quick assets

Measures a company'’s ability to pay off short-term
liabilities/obligations with cash and cash
equivalents



Financial Statement Analysis

Dimensions of Ratio Analysis: Solvency

Financial Statement
Analysis

Solvency ratios are financial ratios that measure a company’s ability to survive in the long run. It measures
the company’s leverage structure and it's debt payment capacity

Ratio ________|Formula | Desired Interpretation

Debt to Equity (Times) Total Debt/ Shareholders
Equity

Debt to Total Assets (%) Total Debt/ Total Assets

Interest (Finance Cost) Earnings Before Interest &
Coverage Ratio (Times)  Tax(EBIT)/Interest Expenses or
Finance Cost

Debt Service Coverage Operating Profit/Total Debt
Ratio (Times) Service

12/19/2021

Assess the extent to which the firm is using
borrowed money or external financing

Relative importance of debt financing to the firm
by showing the percentage of the firm’s assets that
is supported by debt financing.

Measure the firm’s ability to meet its interest
payments and thus avoid bankruptcy

Measure the firm’s ability to meet its financial
obligations from it operating profit



Industry Average (LR)

150-2.00
160-1.75
175-2.00
150-1.70
0.75-1.00
1.75-2.00
1.00-1.50
350-3.75
1.00-1.50
0.75-1.00
250-2.75
250-2.75
100-1.25



Financial Statement Analysis

Financial Statement
Analysis

Dimensions of Ratio Analysis: Efficiency/Turnover Ratio

Efficiency ratios, also known as activity financial ratios, are used to measure how well a company is utilizing

its assets and resources.

Rato__________JFmua________________|interpretation

Receivable Turnover (Times)

Average Collection Period (Days)

Inventory Turnover (Times)

Inventory Turnover in Days

Operating Cycle
Cash Cycle

12/19/2021

Annual Net Credit Sales/Receivable Provides insight into the quality %
of the firm’s receivables and

(Receivables * No of Days in a how successful the firm is in its
Year)/Annual Net Credit Sales collections.
Cost of Goods Sold/Inventory Determine how effectively the 1

firm is managing inventor
(Inventory * No of Days in a year)/Cost ging y

of Goods sold

Receivable Turnover in Days+ Inventory Turnover in Days
Receivable Turnover in Days+ Inventory Turnover in Days- Payable
Turnover in days

44



Financial Statement
Analysis

Understanding the Basics

Financial Statement Analysis

Dimensions of Ratio Analysis: Earnings/Market Value Ratio
Market value ratios are used to evaluate the share price of a company’s stock.

Dividend Yield Ratio (%) Dividend per share / Share price  The dividend vield ratio measures the amount of
dividends attributed to shareholders relative to
the market value per share

Earnings per Share Ratio (Tk.) Net Profit After Tax/ No of Shares The earnings per share ratio measures the
Outstanding amount of net income earned for each share
outstanding

Price-Earnings Ratio (Times)  Share Price / Earnings Per Share  The price-earnings ratio compares a company’s
share price to its earnings per share

9/16/2023 45
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ldentification of Problem iIs the Half of Solution
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Problems & Solutions

1. Following data are collected from the record of a manufacturing concern:

Particulars Amount in Tk.
Raw material used 25,000
Work in Process (01.06.2019) 40,000
Work in Process (30.06.2019) 60,000
Finished Goods (01.06.2019) 150,000
Finished Goods (30.06.2019) 75,000
Direct Wages 1,300 Hours @ Tk.30 per Hour
Direct Expenses 82,000
Factory Indirect Material 52,000
Factory Labour 80,000

Administrative Expense:

Fixed 50,000

Variable 10% of Prime Cost
Selling Expenses:

Fixed 30,000

Variable 5% of Cost of Goods Manufactured

Profit 10% on Sales

Requirements?

1. Prime Cost

2. Factory Production Cost,

3. Cost of Goods Manufactured,
4. Cost of Goods Sold

5. Total Cost

6. Sales 47




Ref [Calculation of Cost Amount in Tk.
1 Raw Material used 25,000
2 Direct Wages (1300*30) 39,000
3 Direct Expenses 82,000
4  |A. Prime cost (1+2+3) 146,000
5 Factory Overheads
6 Indirect Material 52,000
7 Factory Labour 80,000
8 [Total Factory Overheads (6+7) 132,000
9 |B. Total Manufacturing Cost (4+8) 278,000
10 [H+WIP (BB) 40,000
11  |FWIP (CB) 60,000
12 |C. Cost of Goods Manufactured (9+10-11) 258,000
13 HFinished Goods(BB) 150,000
14  |-Finished Goods (CB) 75,000

D. Cost of Goods Sold (12+13-

15 [14) 333,000
16 |Fixed Administrative Expenses 50,000
17 |Variable (10% of Prime Cost) 14,600
18 [Total Administrative Expenses (16+17) 64,600
19 |Fixed Selling Expenses 30,000
20 |Variable (5% of COGM) 12,900
21 [Total Selling Expenses (19+20) 42,900
22 [E. Total Cost (15+18+21) 440,500
23 |F. Sales [Total Cost/(1-Profit Rate] 489,444

Particulars

Raw material used

Work in Process (01.06.2019)
Work in Process (30.06.2019)
Finished Goods (01.06.2019)

Finished Goods (30.06.2019)
Direct Wages

Direct Expenses
Factory Indirect Material
Factory Labour
Administrative Expense:
Fixed
Variable
Selling Expenses:
Fixed

Variable

Profit

Amount in Tk.
25,000
40,000
60,000
150,000

75,000
1,300 Hours @ Tk.30 per Hour

82,000
52,000
80,000

50,000
10% of Prime Cost

30,000

5% of Cost of Goods Manufactured

10% on Sales




Problems & Solutions

°a
2. a) What do the liquidity ratios indicate? Why acid-test ratio is considered as a better indicator of liquidity?

b) Selected financial ratios for XYZ Company and the industry average are as follows:

Ratios Firm Industry
Current ratio 3.2x 2.5x
Acid-test ratio 1.75x 1.9x
Debt to assets 23% 33%
Inventory turnover 5.5x 8.7x
Average collection period 33 days 40 days
Net profit margin 3.80% 3.50%
Return on investment 11.50% 9.75%

Requirements:

1. Evaluate the overall health of the firm compared to industry under different broad dimensions
(Liquidity, Solvency, Activity and Profitability) of financial statement analysis.
2. What other information do you require to make a comprehensive analysis?
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2 (b) (1)

igators | sty e

A. Liquidity Dimension: Assesses the ability to repay short-term obligations
1. Current Ratio 3.20x 2.5x

Company’s position is better than the industry indicating
higher capacity to meet short term obligations

2. Acid Test Ratio 1.75x 1.9x It indicates that the firm maintains higher inventory than
industry which might put pressure on cash mgt.
B. Solvency Dimension: Measure the ability to survive in the long-run by analyzing capital structure and debt
repayment capacity
1. Debt to Assets Ratio 23% 33% Leverage structure is better indicating relatively less
reliance on external financing/borrowing
C. Activity Dimension: Measure how well a company is utilizing its assets and resources
1. Inventory Turnover 5.5x 8.7x

It indicates that the company maintains huge inventories

2. Average Collection Period 33 days 40 days |t indicates better receivable mgt. compared to industry

D. Profitability Dimension:  Ability to generate income relative to revenue, BS assets, operating costs and equity
1. Net Profit Margin 3.80% 3.50%

Overall profitability dimension is good compared to

T —_—— 11.50% 9.75% industry. This might be due to less reliance on external
borrowing (low finance cost), Operational efficiency etc.




2 (b) (2)

* Due to insufficiency of data, a good number of analysis could not be carried out.

 If we could calculate the gross profit _margin and operating profit _margin along with the

peer/industry data, we would be able to identify the profitability strength of the company;

« Although, we have given debt to total assets ratio, it gives a partial view of the leverage structure of

the firm. In order to get a complete structure, we need to calculate interest /finance cost service

coverage ratio as well as debt service coverage ratio

« Some other activity ratio could be analyzed like, operating cycle, cash cycle etc. to get a complete

idea about tied up period in working capital cycle.
* It is not clear whether the company is a listed one; if so, it is required to get earning ratio/market ratio

which may include, but not limited to, dividend vield ratio, price-earning ratio, earning per share etc.

to learn about the market perception.

This is not exhaustive list. You can add more points




Problems & Solutions

3.a) How do the following reflect in break-even volume and P/V (or C/M) ratio?

1. Increase in Fixed Cost;

2. Increase in Sales;

3. Decrease in Variable Cost per Unit;
4. Expansion of Factory Building;

5. Decrease in Selling Price per Unit

m Effects on Break-even Volume Effects on P/V Ratio

Increase in Fixed Cost BE Volume=Fixed Cost/CM per Unit
Therefore, BE Volume will increase

Increase in Sales No effect

Decrease in Variable Cost/unit Increase the C/M;
Therefore, BE Volume reduces

Expansion of Factory Building  Increase fixed cost,
Thus increase BE Volume

Decrease in Selling Price/Unit  Decrease the C/M
Therefore, BE Volume increases

P/V Ratio=Sales-VC
No effect on P/V Ratio

No effect on P/V Ratio

Increase in P/V Ratio

No effect on P/V Ratio

Decreases in P/V Ratio

e




Problems & Solutions

3. (b) XYZ Company sells product ‘X" at Tk.500 per unit. The variable cost per unit is Tk.200 while fixed
cost is Tk.110,000 per month. Based on the above information, calculate the following:

1. Calculate the break-even point of sales units for a month;

Calculate the profit/(loss) for a month if 500 units are sold;

Calculate the sales revenue to earn a profit of Tk.5,000;

Calculate the Margin of Safety if 400 units are sold;

Calculate the break-even point of sales if the selling price is increased by 10%

2.
3.
4.
5.

Slide-29
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3 (b)

1. Break-even Point Sales (Unit)
CM Per Unit=(Sales Per Unit-VC Per Unit)
= Tk.(500-200)=Tk.300

Break-even Point Sales (Unit)=Fixed Cost/CM Per Unit)
(110,000/300) Units=366.67 Units or 367 Units

2. Profit/Loss if 500 Units are sold
Profit=Sales- Variable Cost- Fixed Cost
=Tk. (500*500)-(500*200)-110,000
=TK.40,000

3. Sales Revenue to Earn Profit of Tk. 5,000
=(Fixed Cost +Desired Profit)/CM Ratio
CM Ratio= (Sales-VC)/Sales
=(500-200)/500
=0.60
Therefore, Sales Revenue to Earn Profit of Tk. 5,000
=(110,000+5000)/0.60
= Tk. 191,667

4. Margin of Safety= Sales-Break-even Sales

(400*500)-(367*500) =Tk. 16,500




Problems & Solutions

4. You have been assigned with the responsibility to prepare a cash budget for XYZ Company to evaluate the 8
requirements. The following data are available: —

Months Sales Raw Materials Wages Overheads | | Credit Terms:
January, 2021 100,000 50,000 10,000 22,000 | | = Period of credit allowed by material
February, 2021 110,000 60,000 11,000 22,000 supplier-2 months
March, 2021 120,000 70,000 12,000 25,000 .
) » Lag in payments of overheads- 1
April, 2021 130,000 80,000 13,000 28,000 month
May, 2021 140,000 90,000 14,000 30,000 _
June, 2021 150,000 100,000 15,000 33,000 | | " NO Lag in payment of wages

Other Information:
» Plant to be installed in January at a cost of Tk.50,000 and will be paid on monthly @ Tk.10,000 from 01 February, 2021.

» Extensions to research department at a cost of Tk.10,000 will be completed on March and payment to be made in April.

» Quarterly Depreciation of Plant shall be charged for Tk. 5000 in June, 2021

» Cash sales is estimated at 50% of total sales. 20% of credit sales will be received in the month following sale and 20% of credit
sale in the next month while rest 10% will not be recoverable.

« Payment of Tk. 10,000 is to be made under a hire purchase contract throughout the budgeted period
 Dividend from investment of Tk.50,000 is expected to be received in June, 2021

» Tax of Tk.100,000 is due on 30 June 2021

» Cash Balance on 01 April is Tk. 100,000

Reguirement: Prepare a month-wise cash budget for quarter ended June, 2021
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Cash Budget April-June 2021

Ref Particulars Apr-21  May-21 Jun-21 Total
1 Cash in Hand (OB) 100,000 83,000 71,000 100,000
2=3+4+5 |Sales 111,000 120,000 129,000 360,000
3 50% Current Month 65,000 70,000 75,000
4 20% Previous Month 24,000 26,000 28,000
5 20% Before Previous Month 22,000 24,000 26,000 Credit Terms:
6 Expenses:

» Period of credit allowed by supplier-2 months

7 Raw Material (2 Months Credit) 60,000 70,000 80,000 210,000 | " Lag in payments of overheads- 1 month

= No Lag in payment of wages

8 Wages (No Lag in Payment) 13,000 14,000 15,000 36,000

9 Overheads (1 Month Lag in Payment) 25,000 28,000 30,000 83,000
Month Sales Ra.w Wages| Overhead

10 Plant 10,000 10,000 10,000 30,000 Material

11 SESERITE [DTEEe UG L0800 L, January, 2021 100,000 50,000 10,000 22,000

12 Hire Purchase 10,000 10,000 10,000 30,000
February, 2021 110,000 60,000 11,000 22,000

13 Payment of Tax 100,000 100,000
March, 2021 120,000 70,000 12,000 25,000

14 Dividend Income 50,000 50,000
April, 2021 130,000 80,000 13,000 28,000

15=2+14 |Total Cash Inflow 111,000 120,000 179,000 410,000
16=7 to13 |Total Cash outflow 128,000 132,000 245,000 505,000 MY 2021 140,000, 90,000 14,000, 30,000
17=1+15-16 | Cash in Hand (OB+ Inflow-Outflow) 83,000 71,000 5,000 5,000 /une, 2021 150,0000 100,000 15000/ 33,000




Problems & Solutions

5. Daffodil company produces and sells a single product line, Wooden Toy Box, Selected cost and
operating data relating to the products are given below:

Selling Price per Unit 50.00
Manufacturing Costs:
Variable cost per unit produced:
Direct materials 11.00
Direct labor 6.00
Variable overhead 3.00
Fixed Cost per year 120,000.00
Selling and Administrative costs:
Variable per unit sold 5.00
Fixed per year 70,000.00

Units Details Year 1 Year 2
Beginning inventory - 2,000
Product produced during the year 10,000 6,000
Product sold during the year 8,000 8,000
Ending inventory 2,000 -

Requirements:

costing

1. Compute an Income Statement for each year assuming that the company uses absorption

2. Compute an Income Statement for each year assuming that company is uses direct costing
3. Reconcile the direct costing and absorption costing net income figure

@
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5 (1)

Income Statement: Using Absorption Costing

Particulars Year 1 Year 2

Sales (8000 Units * Tk.50) 400,000 400,000

Cost of Goods Sold: Selling Price per Unit 50.00

Beginning Inventory - 64,000 Manufacturing Costs:

+Cost of goods manufactured Variable cost per unit produced:

(10,000*20) [Y1] (6000*20)[Y2] 200,000 120,000 Direct materials 11.00

+Fixed cost per year 120,000 120,000 Direct labor 6.00

Cost of Goods Available for Sale 320,000 304,000 Variable overhead 3.00

_Ending Inventory 64 000 _ Fixe.d Cost per ye.af . 120,000.00

Selling and Administrative costs:

Gross Profit (Sales- COGS) 144,000 96,000 Variable per unit sold >-00
- — - Fixed per year 70,000.00

Less: Selling and administrative

Costs Units Details Year 1 Year 2

Variable Sales and Admin (8000*5) 40,000 40,000 Beginning inventory - 2,000

Fixed cost per year 70,000 70,000 Product produced during the year 10,000 6,000

110,000 110,000 | [Product sold during the year 8,000 8,000

Ending inventory Calculation:

Variable Cost =2,000*20=40,000

Proportionate fixed cost/unit= 120,000/10,000=12; Fixed Cost= 2,000*12=24,000
Ending Inventory= (2,000*20)+(2,000*12)=40,000+24,000=64,000
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5 (2)

Income Statement: Using Direct/Variable Costing

Particulars

Sales ( 8000 Units * Tk.50) 400,000 400,000

Variable Expenses

Beginning Inventory - 40,000

Cost of goods manufactured Selling Price per Unit 50.00
(10,000*20)[Y1] (6000*20)[Y2] 200,000 120,000 Manufacturing Costs:

(-)Ending Inventory (2,000%20) (40,000) i Variable cost per unit produced:

Direct materials 11.00
Cost of Goods Sold 160,000 160,000 Direct labor 6.00
Contribution Margin 240,000 240,000 Variable overhead 3.00

(+)Variable Sales and Administrative ) ’ F'Xe.d ot [ ye.af - 12000090
(8,000*5) 40,000 40,000 Selling and Administrative costs:

. Variable per unit sold 5.00
Fixed Expenses: Fixed per year 70,000.00
Fixed overhead cost 120,000 120,000

Units Details Year 1 Year 2
Fixed Selling and admin Costs 70,000 70,000 Beginning inventory - 2,000
190.000 190,000 Product produced during the year 10,000 6,000
Product sold during the year 8,000 8,000
Net Profit 10,000 10,000 Ending inventory 2,000 -
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> (3)

Reconciliation Year 1 Year 2
Net Profit under Direct Costing 10,000 10,000
+Ending Inventory (64,000-40,000) 24,000 -
- Beginning Inventory - 24,000
Income under Absorption Costing 34,000, (14,000)

Selling Price per Unit 50.00
Manufacturing Costs:
Variable cost per unit produced:
Direct materials 11.00
Direct labor 6.00
Variable overhead 3.00
Fixed Cost per year 120,000.00
Selling and Administrative costs:
Variable per unit sold 5.00
Fixed per year 70,000.00
Units Details Year 1 Year 2
Beginning inventory - 2,000
Product produced during the year 10,000 6,000
Product sold during the year 8,000 8,000
Ending inventory 2,000 -
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Summary of Course Contents

Financial Management:

1. Time Value of Money:
Concept of Present Value, Future Value, Annuity, Perpetuity, Islamic Concept of Time Value of Money

2. Capital Budgeting:
Non Discounted Cash flow Techniques: Accounting Rate of Return (ARR), Pay Back Period (PPB)
Discounted Cash flow Techniques: NPV, IRR, PI, Capital Rationing and their Applications on Business

3. Working Capital Management, Short, Medium and Long Term Finance:
Different Financing Mix: Short Term Financing Vs. Long Term Financing

4. Lease Financing :
Types of Lease Financing: Operating Lease Vs. Financial Lease, HPSM and their Implications

5. Cost of Capital and Dividend Policy:

Components of Cost of Capital: Cost of Common Stock, Cost of Preferred Stock and Cost of Debt
Weighted Average Cost of Capital, Marginal Cost of Capital, Cost of Capital in Islam

Types of Dividend Policy, Factors influencing Dividend Policy, Rationale of High and Low Pay-Out Ratio
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Understanding the Basics

Time Preference Theory:

Which would you prefer- Tk. 1000 today or Tk.1000 after one year from now?

Common sense tells us to take the Tk.1000 today because we recognize that there is a time value of money.
The concept of preference is known to as “Time Preference Theory”.

1. Consumption: Human being, by nature, prefers current consumption to future consumption. If he/she is
refrained from current consumption, he/she will obviously require some compensation.

2. Uncertainty: Uncertainty is another argument behind the time preference theory. Future is always

uncertain. If we allow for uncertainty surrounding cash flows to enter into our analysis, it will be necessary
to add a risk premium as compensation for uncertainty.

3. Investment opportunity: Investment opportunity should also be taken into consideration because there is

an opportunity cost of money.

4. Inflation: This is the most important argument behind the time preference theory. The purchasing power of

people reduces in the passage of time due to inflation. You cannot purchase as many goods after one year
with Tk.1000 as you can purchase today with the same amount of money.

Q/16/2022
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Understanding the Basics

" Time Valve
Time Value of Money: Key Concepts b of r’\oney 5

wo- 4mupl 5 5 3

e s

The Interest/Profit Rate: Money paid or earned for the use of money is called interest. Another to say, it is the
cost of using money. That is, it is the additional amount of money gained between the beginning and the
end of a time period.

Future Value (Terminal Value): The value at some future time of a present amount of money, or a series of
payments, evaluated at a given interest/profit rate. This future value will include both the principal amount
and the interest/ profit amount.

Present Value: is the value of an expected income stream determined as of the date of valuation. The
present value is usually less than the future value because money has interest/profit-earning potential

Compounding: Compounding is the process whereby interest/profit is credited to an existing principal amount
as well as to interest/profit already paid.



https://en.wikipedia.org/wiki/Interest

Understanding the Basics

Time Valve
Time Value of Money: Key Concepts b of Money i
Present Value to Future Value: e S i =
FV. = PV (1+) M, (1)
Where,

FV .= Future value after n period.
PVO Present value or initial investment.
I= Interest/Profit rate.
n= Number of years.
Example: At the end of ten years, how much is an initial deposit of Tk.100 worth, assuming a compound
annual interest rate 8%7?
Solution:
We know,
FV, =PV, (1+i)"
FV,,= 100 (1+. 08) 10
=100(2.1589) [Take at least four digit after points at the time of using formula]
= Tk. 215.89
So you will have an amount of Tk.215.89 at the end of ten years if you get a compound interest rate of 8%
compounded yearly.

9/16/2023 6



Understanding the Basics

Time Value of Money: Key Concepts

Instead of using the formula, you can use table value to solve
the problem.
FV,= PV, (FVIF; )

Let us solve the above problem through using the table value.
FV, =PV, (FVIF, ,)

FV10 =100 (FVIFB%, 10 years) future vabee interest Lactors of 3 mixed viream cnh flow

=N

’ T:me Value

= 100(2.159) [Using the table value] Pocd| 1% | 2% | 3% | 48 | 55 | 6% | 7% | 6% | o% | toN
=Tk.215.90 1 | 2010 | 3000 | 10 | 1o | ose | nee | row | 1.0 [ rew | 1160 |

2 | 1ooo | voso | o | tos2 | 1103 | nad | 1uas | onies | Liss | 120

] 1030 1.04] 1)) 135 | 114 A% L2325 | L0 L% 1.1

* FVIF=Future Value Interest Factor 4| o | o | roe Cuoo v | s | | i AETTHEYY
5 | 105k | 1308 | 349 | 1297 | 12% | 103 | Lag3 | 1469 | 459 | L6n

ettt L LUS L LI 1 L0 L0 L 1A0 Lt L L0 LA L LT

y | teom | vaas | 3230 | 1ons | 1407 [ 1508 | 1eos | wmie | 1a2 | 149

g | ros | 1az | saey | e | onarr | s | ime | oaest | e | i

s | Loss | 1195 | 1005 | 1Az | 1881 | 1689 | 1838 | 1999 | 2um | 2388

0 LW | 1IN 136 1.4%0 | 1.0 () 1987 210 2,007 M

11 | tue | a2es | kasd | £339 | o700 | tasd | 2Me | 233) | 2560 | X883

12 L7 1243 : 1601 1 1™ 1012 2.2',2 M A0 3

L L us L ] L L Lo | Lse L2t |2l | 270 3066 | A0y

9/16/2023 W | ame |3 | asy | a2 | ues | a6 | 257 | 29w | dam | aw
38 poet | 1388 | ssse | seer | 2om | 2w | 2we | uan | sk | et
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Understanding the Basics " Time Value

Time Value of Money: Key Concepts i of Money j

Future Value to Present Value: o 4mp i B _3
We Know from formula(1), FV = PV, (1+i)"

Rearranging the term, we can solve it for present value-
PVy=FV, [/ (1+)"]eeeiiiiiiiieiinass (2)

So we can find out the present value of Tk.2000 after 10
years at 8% discount rate.
PV,=FV, [1/ (1+i)"]
PV,= 2000 [1/ (1+. 08) 19] Present value of $1 at end period (partial)
PVOZZOOO [1/ (1+|) n] Period 1% 1.50% 2% 3% 4% 5% 6% T% 8% 9% 10%

0.9901 0.9852 0.9804 0.9708 0.8615 0.9524 0.9434 0.9346 0.9259 0.9174 0.9091

e

= 2000(0 463 1) 2 09803 09707 09612 09426 09246 09070 08900 08734 08573 08417 08264

= Tk.926 3 09706 09563 09423 09151 08890 08638 08396 08163 07938 07722 07513

- . 4 09610 09422 09238 08885 08548 08227 07921 07629 07350 07084 06830

We can also solve the prOblem by USing table value: 5 09515 009283 00057 08626 08219 07835 07473 07130 06806 06499 06209
PV.= FV PVIE 6 09420 09145 08880 08375 07903 07462 07050 06663 06302 05963  0.5645

0™ 10 ( 8%, 10 yearS) 7 09327 09010 08706 08131 07599 07107 086651 06227 05835 05470 05132

=2000 (0 . 463) 8 09235 0.8877 08535 07894 | 0.7307 06768 06274 05820 05403 05019  0.4665

= Tk.926 a 09143 08746 08368 07664 07026 06446 05919 05439 05002 04604 04241

10 09053 08617 08203 07441 06756 06130 05584 05083 04632 04224  0.3856

* PVIF=Present Value Interest Factor 1 0.8963 0.8489 08043 07224 06496 05847 05268 04751 04289 0.3875  0.3505
12 08874 0834 07885 07014 06246 05568 04970 04440 03971 03555  0.3186

13 0.8787 08240 07730 06810 086006 05303 04688 04150 03677 03262 02897

14 08700 0.8119 07579 06611 05775 05051 04423 03878 03405 02992  0.2633

15 0.8613 0.7999 0.7430 0.6419 0.5553 0.4810 0.4173 0.3624 0.3152 0.2745 0.2394
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Understanding the Basics 3 Time Value

. i of Money i
Time Value of Money: Key Concepts e

Annuity: An annuity is a series of equal receipts or payments occurring over a specified number of periods.

Types of Annuity: Annuity can be of two types based on the timing of cash flows. These are:
« Ordinary annuity: Payments or receipts occur at the end of each period.
* Annuity due: Payments or receipts occur at the beginning of the period

Future Value of Annuity (Ordinary): Many of us have MSS (DPS) account in banks, which is required to pay a
certain amount of money at the end of/at the beginning of each certain period. Bank gives us interest/profit on
deposited money. You might ask the bank about the total amount of money that you will receive after a certain period
while you deposit a certain amount (Say Tk.5000) at the end of each year for next 5 years.

Future Value of an Ordinary Annuity

Year 1 Year 2 Year 3 Year 4 Year 5

.10)9 =% 5,000
10)1 =% 5,500

$5,000 $5,000 $5,000 $ 5,000 $5,000
.10)2 =3% 6,050
10)3 =% 6,655

= X (1.10)=5 7,321
9/16/2023 Accumulated Total = $30,526 9

— o o —
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Understanding the Basics * Time Value

Time Value of Money: Key Concepts i of Money i
Future Value of Annuity: o 4mpn 15w
FVA,= PMT ([(L+) "-1]/i)eceeerererenirnennne, (3) |

Where,

FVA_ = Future value of annuity after n period
PMT= Periodic payments.
I= Interest/profit rate

Future Value of an Ordinary Annuity Table

n = Number of years. cactor = LA+ 1411
Thus, J
Rate (/)
n_
FVA;= PMT ([(1+1) "-1] 1% | 2% | 3% | 5% 8% 10% 12%
= 5000([(1+0.10)>-1]/0.10) 1 1.000 | 1.000 1.000 |  1.000 1.000 1.000 | 1.000
— 2 | 2010 | 2020 | 203 | 2050 | 208 [ 2100 | 2120
=5000(6.1052) 3 | 3030 | 3060 | 3.091 3153 | 3246 | 3310 | 3374
= Tk. 30,526 4 | 4060 | 4122 | 4184 | 4310 | 4506 | 4641 | 4779
_ | 5| 5101 5204 | 5309 | 5526 | 5867 | 6105 | 6353
Alternatively FVA,= PMT (FVIFA; ) S| 6| 6152 | 6308 | 6468 | 6802 | 733 | 7716 | 8415
— ' 8| 7 | 7214 | 7434 | 7662 | 8142 | 8923 | 9487 | 10.089
FVA, = 5000 (FVIFA 10%, 5 yeafS) S| 8 | 8286 8583 | 8892 | 9549 | 10.637 | 11.436 | 12300
=5000(6.105) 9 | 9369 | 9.755 | 10159 | 11.027 | 12488 | 13579 | 14.776
— 10 | 10462 | 10.950 | 11.464 | 12578 | 14.487 | 15937 | 17.549
_ = Tk.30,525 . _ 11 | 11567 | 12169 | 12.808 | 14207 | 16.645 | 18.531 | 20.655
If Annuity due (payment made at the beginning of period): 12 | 12683 | 13412 | 14192 | 15917 | 18977 | 21384 | 24.133
FVAD,= PMT ([(1+i) "-1]/))(1+i)ceeuneeeinnnnnnee. (4) 13 | 13.809 | 14680 | 15618 | 17.713 | 21.495 | 24523 | 28.029
- 14 | 14947 | 15974 | 17.086 | 19.599 | 24215 | 27.975 | 32393
Or, FVAD,= PMT (FVIFA L n) (1+) 15 | 16.097 | 17.293 | 18599 | 21579 | 27.152 | 31.772 | 37.280




Understanding the Basics " Time Valve

Time Value of Money: Key Concepts

Present Value of Annuity: The present value of an annuity is the cash value of all of your future equal
payments/receipts. The rate of return or discount rate is part of the calculation. An annuity's future payments are reduced
based on the discount rate. Thus, the higher the discount rate, the lower the present value of the annuity is.

Present Value of an Ordinary Annuity

Year 1 Year 2 Year 3 Year 4 Year 5

$5,000 $ 5,000 $5,000 $5,000 $5,000

$ 4,545 =(1/(1.10)") X -
$ 4,132=(1/(1.10)%) X
$ 3,757 =(1/(1.10)3) X

$ 3,415 =(1/(1.10)%) X
$

$

3,105 = (1/(1.10)°) X &
18,954 = Total Present Value

11



Understanding the Basics

Time Value of Money: Key Concepts

Present Value of Ordinary Annuity:
PVA,=PMT [(1-[1/ (14D ") 1]eeeeieiiiiee e, (5)
Where, PVA= Present Value of Annuity (Ordinary)
PVA,=5000[(1-[1/(1+0.10) °]/0.10]
Or, PVA = 5000 (3.7908)
=Tk. 18,954

Alternatively, PVA,=PMT (PVIFA ; )
Or, PVA,= 5000 (PVIFA 14y, 5 years)

= 5000(3.791)
= TK. 18,955

If Annuity due (payment made at the beginning of period):

*PVAD, =PMT [(L-[1/ (L+) "]/ 0] (LH)erreeeerrreereeeeeereenns (6)
Or, PVADN=PMT (PVIFA ; ) (1+i)

*PVAD=Present Value of Annuity Due

|

* Time Value
i of Money i

. 5

Period (n)

Present Value of an Ordinary Annuity Table
Rate (i)

1% 2% 3% 5% 8% 10%
1 0.990 0.980 0.971 0.952 0.926 0.909
2 1.970 1.942 1913 1.859 1.783 1.736
3| 294 2.884 2.829 2123 2577 2487
4 | 3902 3.808 317 3.546 3312 3170
5 | 4853 4713 4,580 4329 3993 3.791
6 | 5795 5,601 5417 5076 4.623 4,355
71| 6728 6.472 6.230 5.786 5.206 4,868
8 | 7652 1325 7020 6.463 5.747 5335
9 | 8566 8.162 7.186 7.108 6.247 5,759

12
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_ B of Money j
Time Value of Money: Key Concepts e

Problems of Mixed Flow:
Many time value of money problems that we face involve neither a single cash flow nor a single annuity. Instead, we may
encounter a mixed or uneven pattern of cash flows.

Future value of mixed flows:
Example: Suppose you have decided to deposit the following cash (given in the table below) in a commercial bank at 10%
annual interest/Profit rate. What will be the future value after five years of your deposited money?

Beginning of the year Deposit (Tk) Calculation of Future Value of Mixed Cash Flows:
1 1000 Future value after five years ( FVg) of Tk.1000 (15t year) = 1000 (1+.10)°>= Tk. 1,610.51
2 2000 Future value after five years ( FV;) of Tk.2000 (2" year)= 2000 (1+.10)*= Tk. 2,928.20
3 3000 Future value after five years ( FV;) of Tk.3000 (3" year) = 3000 (1+.10)3= Tk. 3,993.00
4 4000 Future value after five years ( FV;) of Tk.4000 (4t"year) = 4000 (1+.10)?>= Tk. 4,840.00
5 5000 Future value after five years ( FV,) of Tk.5000 (5"year) =5000 (1+.10)!= Tk. 5,500.00
FVn: PVO (1+i) . Future value after five years ( FV;) of all deposited money = Tk.18,871.71

9/16/2023 13



Understanding the Basics

Time Value of Money: Key Concepts

* Time Value
i of Money i

- 4mupl 15 N

Present Value of Mixed Flows: Present value of mixed cash flows help in determining the investment decision.

Example: Suppose you have an investment opportunity of investing Tk. 50,000 now. The investment will generate the
following cash inflows. If the discount rate is 8% will it be wise to invest in the project?

End of the year Cash Inflow (Tk.)
1 15,000
2 20,000
3 15,000
4 15,000
5 10,000

Calculation of Present Value of Future Cash Inflow:

Present value (PV,) of Tk. 15,000 received after one year = 15,000/ (1+. 08) != Tk.13,888.88
Present value (PV,) of Tk. 20,000 received after two year = 20,000/ (1+. 08) 2= Tk.17,146.78
Present value (PV,) of Tk. 15,000 received after three year =15,000/ (1+. 08) *= Tk.11,907.48
Present value (PV,) of Tk. 15,000 received after four year = 15,000/ (1+. 08) *= Tk.11,025.44

Present value (PVD) of Tk. 10,000 received after five year = 10,000/ (1+. 08)°= Tk. 6,805.83

PV,=FV,, (1+i)"

Decision: Since NPV is positive, the project
IS accepted

Present value of all cash inflows Tk. 60,774.41
(-) Initial Investment Tk. 50,000.00
Net present value (NPV) Tk. 10,774.41

9/16/2023
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Time Value of Money: Key Concepts

Compounding more than once a year:

FV = PV (14 [I/M]) M e e e e (7)
Where, m=Number of compounding in year

The future value after 3 years of Tk.100 @ 8% Interest Rate under quarterly compounding-
FV,= 100 (1+ [.08/4]) @ )
= 100 (1+.02) 12
= Tk.126.82

The future value after 3 years of Tk.100 @ 8% Interest Rate under semiannual compounding-
FV,= 100 (1+ [.08/2]) @ 3)
=100 (1+.04)°
= Tk.126.53

The future value after 3 years of Tk.100 @ 8% Interest Rate under annual compounding-
FV,= 100 (1+ [.08/1]) D @)
=100 (1+ .08)3
= Tk.125.97

The more the number of compounding in a year, the more the future value .



Understanding the Basics

Time Value
Time Value of Money: Key Concepts l‘ o ) i i
- W - SBEp 1 5 9
Effective Annual Interest Rate:

Effective interest rate is the actual rate of interest earned (paid) after adjusting the nominal rate for factors such as the
number of compounding periods per year.

Effective Annual Interest Rate= (1+ [i/m]) M-1

Problem: A savings plan offered a nominal interest rate of 8%. What will be the effective interest rate if the interest is
compounded: a) Yearly; b)Semiannually; c)Quarterly & d)Monthly.

Solution: Effective Annual Interest Rate= (1+ [i/m]) ™-1

a) EAR yeuy = (1+[.08/1])1-1
= .08 = 8%

b) EAIR (Semiannually) ~ (1+ [-08/2]) -1

=.0816=8.16%
C) EAIR (Quarterly) (1+ [08/4]) *-1
.0824= 8.24%

d) EAIR (Monthly) = (1+ [08/12]) 12'1
=.0829= 8.29%

16



Understanding the Basics

Capital Budgeting Techniques

Capital budgeting techniques are the methods to evaluate an

investment proposal

——
Capital

Budgeting
B SN VJ

in order to help the

company decide upon the desirability of such a proposal. These techniques are categorized into two heads: traditional
methods and discounted cash flow methods.

Techniques of capital budgeting

Conventional or
Traditional

o

_—

Pay back
period

-

Accounting
rate of returnm

Nonmn Conventional

or Discounted

Cash Flow method

o

Net present

value

—~

Internal rate

—

of returnm

.

\

e

Profitability

Index

17
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Understanding the Basics | Copital

Budgeting .
. i

1. Payback Period: The payback period (PBP) of an investment project tells us the number of years required to recover our
initial cash investment based on the project’s expected cash flows.

Capital Budgeting Techniques: Traditional

Initial investmyent: 5200 OO0
P Uncovered Cost ot te

Year Cash imflow cash inflow : Be mnm 0[’ the RECOVE Yea[

, 570,000 5 70.000 || PADAK  plveste , S

2 &0.000 130,000 ; - RQCOVGW |

3 55000 185,000

: 35,000 185,000 Period Cash Flow During the

s 30.000 255.000 Recovery Year

s 25000 280.000

Payback Period (PBP): 3 Years+ (200,000-185,000)/40,000 = (3+0.375) Years= 3.375 Years

Decision Criteria;

If the calculated PBP<Acceptable PBP----Accept the Project
If the calculated PBP>Acceptable PBP---- Reject the Project

18



Understanding the Basics

Capital Budgeting Techniques: Traditional

2. Accounting Rate of Return:

—
Capita(

Budgeting :
. il

Accounting rate of return (ARR) is a formula that reflects the percentage rate of return expected on an investment, or asset,

compared to the initial investment's cost.

Particulars Amount in Tk.
Initial Investment 100,000
Profit Net Income Y1 10,000
Profit Net Income Y2 20,000
Profit Net Income Y3 25,000
Profit Net Income Y4 30,000
Profit Net Income Y5 35,000
Average Net Income 24,000

ARR (Average Net Income/Initial
Investment)

24%

—_—

| l“l
— -

Accounting Rate of _ Average Annual Profit
~ Initial Investment

Return Formula

—————— -

Decision Criteria;

If the calculated ARR>Acceptable ARR---- Accept the Project
If the calculated ARR<Acceptable ARR---- Reject the Project

19
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Understanding the Basics f Capital

Budgeting ,

Capital Budgeting Technigues: Discounted Cash Flow Technique —

1. Net Present Value:
NPV is used in capital budgeting and investment planning to analyze the profitability of a projected investment or project.
Net present value (NPV) is the difference between the present value of cash inflows and the present value of cash
outflows over a period of time. Calculate the NPV of the following problem @ 12% discount rate

Particulars Initial Year Year 1 Year 2 Year 3 Year 4 Net Present Value Formula
— -
Cash Outflow (100,000) - - - - = s
Cash Inflow - 34,432 39,530 39,359 32,219 NPV = zﬁ% - Initial Investment
1.
alll
1437 772 =
NPV— Tk.34,431_ . Tk.39:531t] L Tk39.359 Tk.S_,_149 Tk 100000
1+.12)  (1+.12° (1+.12) (1+.12)
CF, CF, CF.
Or, alternatively, NPV= _11 - 1= 1) s -+ 1= —ICo
(1+1) (1+1) (1+1)
NPV=[Tk.34 43 2(PVIF e.1)+Tk 39.530(PVIF 256.2+Tk. 39.359(PVIF 295+ Tk Tk 32.219(PVIF 354.4)]- Tk. 100,000
= [Tk.30,748+ Tk.31,505+ Tk.28,024+ Tk 20,491]-Tk.100, 000 Decision Criteria:

If NPV>0 --- Accept the Project

=Tk. 10,768. If NPV<O --- Reject the Project
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Understanding the Basics

Capital Budgeting Technigues: Discounted Cash Flow Technique

2. Internal Rate of Return:
The internal rate of return (IRR) for an investment proposal is the discount rate that equates the present value of the
expected net cash flows (CFs) with the initial cash outflow (ICO).
That is, IRR is the rate at which Present Value of Cash Inflows=Initial Investment/Present Value of Cash Outflow.

CF, CF, CF, 50,000
1 - Tl -
(1+IRR) (1+IRR) (1+IRR) = 40,000
% 30,000
E 20,000
Decision Criteria: ’;‘ 10,000 IRR_”u
If IRR> Discount Rate---- Accept the Project ’§
If IRR< Discount Rate----- Reject the Project - 0 )
If IRR= Discount Rate--—-- NPV=0 10,000 S DISCOUNT RATE (& )




Understanding the Basics

Capital Budgeting Technigues: Discounted Cash Flow Technique

Calculation of IRR:

Particulars Initial Year| Year1 Year 2 Year3 VYeard | IRR =1 _,~+ NV (ry, — 1)
NPV, - NPV,
cash Qurfow | (100,000 - I~ it i
N, = NPV at r_
Cash Inflow - 34,432 39,530, 39,359 32,219 N, = NPV atr,
YEAR, NET CASH FLOWS PVIF AT 15% PRESENT VALUES YEAR |  NET CASHFLOWS PVIF AT 208 PRESENT VALUES
1 34,432 x 870 = 29,955.64 1 34,431 X 833 26,681.86
2 39,530 ® 756 = 29,684.68 2 39,530 X 694 27433.82
3 39,359 ® 658 = 25,898.22 3 39,359 X 579 22,788.86
L 32,219 X 572 = 18,429.27 < 32,219 X A82 15,529.56
Present Value of Cash Inflow 104,168.01 Present Value of Cash Inflow 94.434.10
NPV @ 15% Discount Rate 4,168.01 NPV @20% Discount Rate -5,565.90

IRR= 0.15+ 4,168.01/[(4,168.01- (-5,565.90)] *(0.20-0.15)
= 0.15+ (4,168.01/9,733.91)*0.05
= 0.15+0.0214= 0.1714= 17.14%




Understanding the Basics f Capital

Capital Budgeting Technigues: Discounted Cash Flow Technique

Budgeting (

3. Profitability Index

The profitability index (PI), or benefit-cost ratio, of a project is the ratio of the present value of future net cash flows to

the initial cash outflow. It can be expressed as:

CF, CF, CF,
PI= -+ — A ——
(1+K) (1+K) (1+k)"

Pl=(30,748+ 31, 505+28,024+20, 491) +100, 000
= 110,768 +100,000
=1.11

Thus, the Project is acceptable.

l &
Ké??lb
Profitability _ PV of Future Cash Flows
Index Formula Initial Investment
= f p ’i
ETITEY

Decision Criteria;

If PI>1---- Accept the Project
If Pl< 1----- Reject the Project
If Pl= 1----- NPV=0
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Understanding the Basics f Capital
Budgeting »
Capital Budgeting Techniques: Discounted Cash Flow Technigue Bl

Capital Rationing:

» Capital rationing is a strategy used by companies or investors to limit the number of projects they take on
at a time. If there is a pool of available investments that are all expected to be profitable, capital rationing
helps the investor or business owner choose the most profitable ones to pursue.

» With a capital rationing constraint, the firm attempts to select the combination of investment proposals that
will provide the greatest increase in the value of the firm subject to not exceeding the budget ceiling

constraint.
PROJECT | INITIAL CASH OUTFLOWS (TK.) [ IRR (%) NPV(TKk.) PI Requirements:
A 50,000 15 12,000 1.24 Which Projects would you choose if you have
B 35 000 19 15000 143 budget constraint of Tk.65,0007?
C 30000 28 42 000 2.40 Definitely you should choose the projects that
' ' : will generate higher NPV. In order to solve the
- 25,000 26 1,000] 1.04 problem you have to go by PI
E LU0 Al LUNDYI[ =407 Projects C (PI-2.40), G(PI-2.30), F (PI-2.10) and E
F 10,000 37 11,000 2.10 | | (pI-1.67) will have NPV of Tk.76,000 which is the
G 10,000 25 13,000| 2.30 highest in all combination of investment of
H 1,000 18 100| 1.10 Tk.65,000 of budget ceiling




Understanding the Basics r Capital

Budgeting
Capital Budgeting Techniques: Discounted Cash Flow Technique -— v...J
Selected by NPV Selected by IRR
‘Project . NPV/  Fund Project IRR Fund
F 37% 10,000
C 28% 30,000
D 26% 25,000
65,000
PROJEC | INITIALCASH OUTFLOWS | IRR (%) NPV(Tk.) Pl
T |(TK)
A 50,000 15 12,000 1.24
B 35,000 19 15,000 1.43
C 30,000 28 42,000 2.40
D 25,000 26 1,000 1.04
E 15,000 20 10,000 1.67
F 10,000 37 11,000 2.10
G 10,000 25 13,000 2.30
H 1,000 18 100] 1.10




Understanding the Basics

Financing Mix

Table 8.1 Classification of Sources of Funds

Source of Funds

Classification
On the basis of On the basis of Omn the basis of
period ownership source of fcncration
Long-‘term Short-terin Owner's Borrowed Funds Internal External
m FEquity shares B Trade credit Funds B Debentures Sources Sources
H Retained earnings = Fa(‘tori;‘xg = Equity m lLoans from banks m Equity B Financial
m Preference shares =B ] e shares m Loans from financial share institutions
m Debentures S Commaerdial = Retax.nec} gsbifutc)ions capital ] {;oan from
| [_oan from financial paper carnngs: M rubuc | eposits B Retained anks
institutions B [.ease financing earnings H Preference
W l.oan from banks = Commercial shares
- Papers m Public deposits
Medxuxp-term m Debenture
= Loa:n from banks W lcase
= Pubhc\ clepoxsits ) financing
O Loan Ir(?m financial m Comrmercial
Institutions papers
H [ ease [inancing B Trade credit

B Factoring




Understanding the Basics

Lease Financing

What is Lease Financing?

Lease financing is one of the important sources of medium- and long-term financing where the owner of an
asset gives another person, the right to use that asset against periodical payments. The owner of the asset is
known as lessor and the user is called lessee.

Types of Lease: Depending upon the transfer of risk and rewards to the lessee, the period of lease and the
number of parties to the transaction, lease financing can be classified into two categories. Finance lease and
operating lease.

Finance Lease: It is the lease where the lessor transfers substantially all the risks and rewards of ownership
of assets to the lessee for lease rentals. In other words, it puts the lessee in the same condition as he/she
would have been if he/she had purchased the asset.

Operating Lease: Lease other than finance lease is called operating lease. Here risks and rewards incidental
to the ownership of asset are not transferred by the lessor to the lessee. The term of such lease is much less
than the economic life of the asset and thus the total investment of the lessor is not recovered through lease
rental

27
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Cost of Capital

What is Cost of Capital?

In economics and accounting, the cost of capital is the cost of a company's funds (both debt and equity), or,
from an investor's point of view it is the required rate of return on a portfolio company's existing securities. It is
used to evaluate new projects of a company. It is the minimum return that investors expect for providing capital
to the company, thus setting a benchmark that a new project has to meet.

What is Weighted Average Cost of Capital?

The weighted average cost of capital (WACC) is a calculation of a firm's cost of capital in which each category
of capital is proportionately weighted. All sources of capital, including common stock, preferred stock, bonds,
and any other long-term debt, are included in a WACC calculation.

l Cost of Debt WACC — Weighted Average Cost of Capital
6%
Less 30% tax Ty
- S : b (Debt“\., e
== Cost of Debt 259% Weighte
. l '$ ‘T} % after tax x Q = Cost of Debt
WACC [ B ——d 4.2% Equity 1.05%
— = = WACC
Formula — [Cost of EqUIty X % of eq..llty] -t . _  Weighted Average
[Cost of Debt X 9% of Debt X : Cost of Capital
12.3%
(1 — tax rate)] o Debt Weighted
2 x | ' y = Cost of Equity
Equity 15% Equity 11.25%
75%
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The Cost of Equity Capital

Shareholder
INVests In
financial

asset

Firm with

excess cash

A firm with excess cash can either pay a
dividend or make a capital investment

Shareholder’ s
Terminal
Value



The Cost of Equity Capital: Capital Assets Pricing Model

 From the firm’ s perspective, the expected return is
the Cost of Equity Capital:

Rs=R. + 8(Rw —R.)

« To estimate a firm’ s cost of equity capital, we
need to know three things:

1. The risk-free rate, R¢

2. The market risk

3. The company beta (Sensitivity of a stock’ s return to the return
on the market portfolio.



Determinants of Beta

* Business Risk
1. Cyclicality of Revenues

2. Operating Leverage (the degree of operating leverage measures
how sensitive a firm (or project) Is to its fixed costs.

* Financial Risk

3. Financial Leverage (Financial leverage is the sensitivity to a
firm’s fixed costs of financing)



Using the Security Market Line(SML)

Good SML

) A
project

Project
IRR 30%

15%

.y C - Bad project
0

> Firm’ s risk (beta)
2.5
An all-equity firm should accept projects whose IRRs exceed the cost

of equity capital and reject projects whose IRRs fall short of the cost of
capital.



Capital Budgeting & Project Risk

% SML

0 / - -
24% Investments in hard drives
or auto retailing should have

higher discount rates.

17%
10%

Project IRR

> Project’ s risk (B)
0.6 1.3 2.0
R = 4% + 0.6%(14% — 4% ) = 10%

10% reflects the opportunity cost of capital on an investment in electrical
generation, given the unique risk of the project.



The Cost of Equity Capital:
Dividend Discount Model (DDM)

D,

Rs_—+g

« Where D1=Dividend of the next years, P=Market Price; g= Growth Rate

« The DDM 1is an alternative to the CAPM for calculating a firm’s cost of
equity.

« The DDM and CAPM are internally consistent, but academics generally
favor the CAPM and companies seem to use the CAPM more consistently.

« The CAPM explicitly adjusts for risk and it can be used on companies that
do not pay dividends.



Cost of Debt

* The cost of debt is the effective rate that a company pays on its debt, such as
bonds and loans.

 The after-tax cost of debt is the interest paid on debt less any income tax savings
due to deductible interest expenses.

Cost of Debt

S e Interest expense b ( - o<

debt Total debt rate




Cost of Preferred Stock

* Preferred stock is a highbred security which carries both the feature
of bond and equity

* Preferred stock is a perpetuity, so its price is equal to the coupon paid
divided by the current required return.

Cost of Preferred Stock Formula

Dividend Par
Cost of rate " value
preferred =

stock Share et 1
price > i - costs 246
at iIssue




2 BrainyQuote

ldentification of Problem iIs the Half of Solution
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Problems & Solutions

1) ABC Company is considering a proposal to purchase a machine costing Tk. 10,00,000 initially. The
machine is expected to have economic life of 5(five) years with salvage value of Tk.100,000. The expected
profit before depreciation and tax is shown in the following table. The company follows straight line
depreciation method. Assume tax rate is 50% and also assume cost of capital is 15%.

End of | Amount of cash flow (in Tk.) Present Value Interest
the year Factor(PVIF) @15% Discount Rate
1 250,000 0.870
2 300,000 0.756
3 350,000 0.658
4 250,000 0.572
5 200,000 0.497
Requirements:
1) Will it be wise to purchase the machine? Give your decision
based on NPV method.
2) Calculate the Payback Period of the machine 38




1)
End of the| Cash Flow Before |Depreciation| EBT Tax @50% | EAT 6=4-5 Net Cash Cumulative PVIF@15% PV of NCB
year (1) Deprf:i‘aii':i 2) (3) 4= (2-3) | 5=50% of 4 Benefit 7=(6+3)| Cash Flow (8) | Discount Rate (9) | 10=(7*9)
1 250,000 180,000[ 70,000 35,000 35,000 215,000 215,000 0.870 187,050
2 300,000 180,000 120,000 60,000 60,000 240,000 455,000 0.756 181,440
3 350,000 180,000 170,000 85,000 85,000 265,000 720,000 0.658 174,370
4 250,000 180,000[ 70,000 35,000 35,000 215,000 935,000 0.572 122,980
5 200,000 180,000/ 20,000 10,000 10,000 190,000 1,125,000 0.497 94,430
5 100,000 (SV) 100,000 1,225,000 0.497 49,700
PV of NCB 809,970
1) Decision: It will not be wise to purchase the machine as NPV of the ||eass Net Cash Outflow (1,000,000)
machine is Negativ, NPV (190,030)

Calculation of Depreciation of Machine= (Cost of Machine-Salvage Value]/Estimated Life
= (10,00,000-100,000)/5
= Tk. 180,000

2. Payback Period = 4 Years +(10,00,000-935,000)/290,000
=4.22 Years

39
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Problems & Solutions

2) RB Fashion has the following capital structure on December 31, 2020

Source of Capital: Amount (Tk.)
Ordinary Share Capital (800,000 Shares) 8,000,000
10% Preference Share 2,000,000
14% Debenture 6,000,000
Total 16,000,000

The share of the company sells for Tk.20. It is expected that company will pay next year a
dividend of Tk.2 per share which will grow @5% forever. Assume 40% tax rate.

Requirements:

1) Compute weighted average cost of capital (WACC) based on existing capital
structure

i) Compute the new weighted average cost of capital (WACC) if the company
raises an additional Tk. 40,00,000 debt by issuing 15% subordinated bond.
This would result to increase in expected dividend to Tk.3 per share with
same growth rate.




2(i)

Ordinary Share 8,000,000

10% Preference Share 2,000,000

14% Debenture 6,000,000

Current Market Price 20

Growth Rate 0.05

Dividend of Next Year (D1) 2

|Cost of Common Stock Ke=(D1/Current Market Price) +G=(2/20)+0.05 =0.15=15%

|Cost of Preferred Stock @10% |Dps=Rate of Preferred Dividend =0.10=10%

|Cost of Debenture @14% De=Dc(1-Tax Rate)=0.14*(1-0.40) =0.084=8.40%

i) Weighted Average Cost of Capital

Particulars (1) Amount(2) Weightage(3) Cost(4) Weighted Cost (5=3*4)
Ordinary Share 8,000,000 0.500 0.150 0.0750
10% Preference Share 2,000,000 0.125 0.100 0.0125
14% Debenture 6,000,000 0.375 0.084 0.0315
Total 16,000,000 1.000 WACC 0.1190=11.90%

D1=D0(1+G)=2.1[If D1 is not given]

(where DO=Dividend of Current year
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2(i1)

Ordinary Share 8,000,000

10% Preference Share 2,000,000

14% Debenture 6,000,000

15% Subordinated Bond 4,000,000

Current Market Price 20

Growth Rate 0.05

Dividend/Share of Next Year (D1) 3|

|Revised Cost of Common Stock Ke=(D1/Current Market Price) +G=(3/20)+0.05 [=0.20=20%
|Cost of Subordinated Bond Ds=DSc (1-Tax Rate)=0.15*(1-0.40) =0.09=9%

ii) Weighted Average Cost of Capital

Particulars (1) Amount(2) Weightage (3) Cost (4)] Weighted Cost(5=3*4)
Ordinary Share 8,000,000 0.40 0.200 0.08
10% Preference Share 2,000,000 0.10 0.100 0.01
14% Debenture (from previous) 6,000,000 0.30 0.084 0.0252
15% Subordinated Bond 4,000,000 0.20 0.090 0.018
Total 20,000,000 1.00 WACC 13.32%
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Problems & Solutions

3) Mr. X wishes to purchase an annuity contract that will pay him Tk. 7,000 a year for the rest of his life.
The Delta Life Insurance Company figures that his life expectancy is 9 years, based on actuary tables.
The company imputes a compound annual profit rate of 10% in its annuity contract.

Requirements:

1) How much will he have to pay for the annuity?

1) How much would he have to pay if the profit rate were 8%?
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3)
We are Given,

Payment (PMT) Tk. 7000

Interest Rate (i) i) 10% and ii) 8%

Number of Years (n) 9 Years

How much Mr. X Will have to Pay Now? i.e., Present Value of Annuity (PVA)

We Know, PVA_=PMT [(1-[1/ (1+i)"]/ ]

Present Value of an Ordinary Annuity Table
Or, PVA,=PMT (PVIFA; )

Rate (i)
1) PVA4=7,000 (PVIFA 14y, o) 1% ‘ M M ‘ o o 10%
=7,000 *5.759 | !
= 40,313 0.990 0.980 0971 0952 0.926 0.909
= 1970 1942 1913 1859 1783 1.736
1) PVAg=7,000 (PVIFA gy, o) S 2941 2,884 2829 213 2577 248]
= 7,000*%6.247 7 | |
- 43.729 _g 3902 | 3808 3N | 3.546 3312 3170
A

3 | 413 | 45 | 439 | 33 | 3
5795 | se0t | 54 | 50 | 463 | 435
678 | 641 | 6230 | 57 | 526 | 488
2 | s | o | e | s | 5%
8566 | 8162 | 778 | 7108 | 6241 | 57%9

O | o | 1| O | =0 o |




Problems & Solutions

4) You have currently Tk. 100,000 to deposit in an Islamic Bank under Mudaraba Term Deposit (MTDR)
on Auto Renewal basis. You have been informed that the provisional rate of profit for 3 months MTDR is
7% followed by 7.50% for 6 months and 7.75% for 12 months.

Requirements:

1) What would you get at the end of three years on each alternative?

1) What would be the effective rate of return on each alternative and which plan should you
choose?
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4) (1)

We are Given,

Principal Amount Tk. 100,000
1) 7% for 3 months MTDR
Profit Rate Rate (i) 2) 7.5% for 6 months MTDR
3) 7.75% for 1 year MTDR
Number of Years (n) 3 Years
i) How much you will get after 3 three years for each|Future value after 3 years for all the three
alternative? alternatives
ii) What will be the Effective Annual Interest Rate Calculate the Effective Annual Interest Rate (EAIR)
(EAIR) for each alternative and which one will you for each alternative and the best alternative will be
choose? where the EAIR is the highest.
We Know, FV =PV, (1+ [i/m])mn

[ If number of compounding is more than once in a year]

1) FV3 (three months mror)= PV (1+ [i/m])m where, i=7%, m=4
=100,000 (1+ [0.07/4]) '3
=123,143.93

2) FV3 (six Months mtor)= PVo (1+ [i/m]) mn where, i=7.50%, m=2
=100,000 (1+[0.075/2]) 2*3
=124,717.85

3) FV3 1 vear mror)= PV (1+ [i/m]) ™ where, i=7.75%, m=1
=100,000 (1+[0.0775/1]) "3
=125,098.42 s




4) (i)

We are Given,

Principal Amount Tk. 100,000
1) 7% for 3 months MTDR
Profit Rate Rate (i) 2) 7.5% for 6 months MTDR
3) 7.75% for 1 year MTDR
Number of Years (n) 3 Years
i) How much you will get after 3 three years for each|Future value after 3 years for all the three
alternative? alternatives
Calculate the Effective Rate of Return (ERR) for each
ii) What will be the Effective Rate of Return (ERR) for flternative and the best alternative will be where
each alternative and which one will you choose? the ERR is the highest.

Effective Annual Interest Rate= (1+ [i/m]) m-1

1) EAIR (quarterly)= (1+ [i/m]) ™-1
=(1+ [0.07/4]) 4-1
=7.19%

2) EAIR (Semi Annually))= (1+ [i/m])™-1
=(1+ [0.075/2]) 2-1
=7.64%

3) EAIR (Yearly)= (1+ [i/m])m-1

=(1+ [0.0775/1]) 1-1
=7.75% 47







49



DIPLOMA IN ISLAMIC PANKING
MANAGEMENT ACCOUNTING & PNANCiAL AT

S0LUTION  EXAM~ MAY- 2023

D ®
Conbribuhion Mangi, (@ny = Sclto-Varable cast
Anif LH.
Conbnbudin. N\M&;\@@ szo,m-\zo,ooQ
= 30,000 Tk
Conbukion Muﬂ'w %Hu@u@ = Bo,ow/tgo,ooo
- (Contibo Mg ficts) " .90
(i) Breok-one frih of scbio = 15,00%-20

@mx Cost fen %9
W 0‘.; .s«\;ei:an. (._Colu—BE.rﬁ

|: K- F5000 I

= Tk- 15,000

- (150,m-520)

= 55,‘0,(50 02333
< Tk 105,010
— 150,000-05,010

" corn PN Tk.Sost = (Fxed s +Destfled faf}
@ Vobons. of Rerme b Al C am &HD‘%’

Alilp L
v of rowua eans Ptk @om+50,00j)6-m
50,010 |

i1)  Considoai
Sty

Bon
git;’rx ot quidby co-prd

Oy\T[LCM
b eune

1 ; : ande AL -
: b md & Mem W A /
Lo %Mﬁsﬁ‘xjﬂf)wﬁr zw\ﬁ:d’f U“_Fwiwuu:

ﬁ‘CGVbG

sty B qrers e PAC:

Poget

ombibudion wangin and) fired ot unclengel
b eoam qmmﬁbd w emnfiting

b bl Qu%z‘«“w»«f)wi
2 . ’ﬁ? ”ﬁhkﬁ

U wmed  un R‘QJ AL
’Pﬁfi Ui, Jepnrtionof ey U«aﬁ
W

Ml
:Qs‘,ooo + so,b@ﬁ; 3283

[T 255025

7M:‘NH1Q‘
ot Raav domort-
w,J_KA‘L lH‘In@u.
M'lmu“lwl{xw ‘
awat—%gﬁvpﬁct
Al kel
.t

|

~

CamScanner


https://v3.camscanner.com/user/download

: Q’D sobz\ Mmu{;c«c} L

s
Sklemert Mv\'\m (h&m&W)
v the 7@?% 21 Decomdoh £222

T
A Coobplot Yo Oprsbing Ackivitieas
Neb wmeowe 450,000
A&L: Deprudiaking 125,000
ALt Deoveme wn Reeaieble (350,000-2812 68,750
loss’ lneveasl wn lhvw“'d‘l\‘ 650_006'[2};,069 @5,00(9
Loss: Decreme v Fouabls (3000023758 (62.50)
Less: Gatn w Sole of ECV.U-PM 50,000)

R

Nek Corlju Opum(-ius} Achiviieo — S0 250
Iwsh ) —_—
b Cothint o Basnuiohy Achihia:
Sole o Eariprad 175,000
) ‘Pu:iu ‘M"ﬂ W e o (137.500)

@) Puwdse ofled (18 A-s00] (218,70)
Neb coddini Jpom Inaskivg pehinke. (qg\,a_sv)
¢ . Colp 'bnf'“ *Fimuu? Achivihies ¢
lestme st MJTT" 250,080
Dividend poll Mv? b porivd _gilﬁ 000)
Nk co L\t Jpom fHrancing. ackivities 25000
Nh cont. (A484C) 35000

CamScanner


https://v3.camscanner.com/user/download

3(b)

WQ— o %:1‘(%—’

Eww'wl bekoe |niasek and Ton (EB1D T. 179,200

be7 2 [k on 167 Bond Oe'/.o;k-m,om | glq,aooz
EMV\J“} befure Taa G

\ess ! Taa

Tk 160,000
® 407, o Eﬂ'r@w.oﬁtu@ T £4.000

Ndpwf{—éfaloﬁli-w»

/. 96,000
') Redwu Bauily (ReE) = Net plyt offiy Taa
A " 0&9 T T Shanholds Equly
%{f&%&m-\bm'&@ = RMQ__’____,__
= émooo+2_4qooo+\go,@ @u,oOo +2.40,000 +18 0.009
7 o - qe,oooﬁ/jm.mb = ' 143 = 11437,
QD Time. bdazt Eomad Reo - ERIT /\ [ Exporaea

\)

lf',q,zoo/m.o_oo -~ 432 hway

\)

ng EM»? Per Phone (_&@ Nek prolit Ajps TM/No W,«%

Q6,000 /16,300 = & 53 /shore
Q\Q Preice - Raanng. Rebro @fE ?A@ =hifnice P shm,/ Eam»?qﬁrﬂ'w

(D)

Modre} Pce fehoe > K. BS

—

= B 2 €13 Ko

(v) Pork Velar [shore,

I

Aroreholdons Eqply
Ns- Uji odea-JJ-ﬂ shorea
— 240,000
| 6,200
= Tk 50/9\04‘0.

CamScanner


https://v3.camscanner.com/user/download

g(-h) We o 8‘1‘(&\'

Coct of velide = Tk 45,00,000 No ?PYMQ')‘J'W ey oone
Cliadt! . 080 Roti o Patwenl) = T
< Bquly 26701 esf=f3 0000 ‘ gesdy of B ot
WA Jnvshwed . 31,50,000 ot eodh gt
We Kand, VA""/UP Aqu;;

PVA = PmT CPVlPA;?,_’nM Wikt f’W’:a& o T P A

) .C’
SD Ow - M = FW‘&‘ ‘

> 31500 = Pmrx 50330 [ From PIFA Tabcgl

S PmT = 3LS0.00/5.0330 TR £2G849
“Thws Trholhnsnd Sige witlbe Tk 625869
,NL anL .W"'\. pd" - Tk \04000
)y Deposd- Ao Nuﬁ,umﬂ:), Ty an.pJ\HTHL

Prosionl Rolz &+ (%) = 650/ (%
4 et O ol gegr/.@n@% MDA~

fericd () = 3 fes Fv,m R Veb s 2 345
ey | R
Nete B3 g mothe tend) = PVo [ -
= ool 06%4]
= TR 12, 134 .
i/ ™" heve. M =2
FV3C(,N:¢L ,.M-pay = PVo L\j t/»»\—J ué
= 10,000 I;\‘\'O'OG:B?'Q_
= Tk 12,203

3x| .
‘068 - "
i il e

) . ™M
@ Eﬁ"—““\fe, A WRAECEMQ :[1_'\' ‘/n\] -1
oW, EA\Px(5th1 MWQ = [j+ -065/4]4; 1 = €'¢Ly.
EAR (g el H0R) = [_H—'OHS/?_] 1—1 = 8Ly,
£AR. (b nrlfs DR) = ]'_H'wa/ﬂ -1 = ¢85/

. W ot ¢ »odl, apRk sEAR
?_nsws‘ ko obove cpﬂ-cub[ml hbﬁvm '
3 ! nuﬁ“u'ﬂ MTDP\
1.e W o W B : ‘

Pogc. —4

CamScanner


https://v3.camscanner.com/user/download

.}(9 We ane ‘aivu\_
Cost 6 Maduwe = - 500,000
EXPC&"—J L"\TT 0‘? MCJ\H\L— g‘a‘e“‘ﬂ
jln» & 50,000 , lostsl Lopitel = 157, Tor fols =52

-

-

CGJU&Qo\u). G‘B/ &Lfnunﬁm N&w/t&a.( @Sl‘ﬂ“ N“J“"*"Wﬁaf—yal‘nﬁ/
wdt
JW
=K(1500,000- so,u@/s
“&;*m | =TkA0,000/ feor

R L v v s Sl s SIS v s S
200,600 | 90000 | 110,000 | 55000 | 55,000 lhso00 | luses0 | 0843t |12609%

2| 200000 | qopoo | 0,000 | s5p00] 55080 | oo | 240000 | 0754l 109635
5| 250000 | Foow | 160,000 | 20000 | 90,000 | 10,000 | Lo 0'¢S75 | NLF75
4 | 22500 | Q0000 | 135000 | 750 | CTS0 | 1S7500 | 617500 0538 | 90059
i 450000 | Qo000 | L0900 30080 | 20,000 | 120000 (3350 | 4912 59,66l
56000(sv)| - - 0'4972| 24800
WPV of NCB 522,005

hess! Ced oty 590000

N Pv Tk 22,085

C) Posy back fousd = Rl Unkll 4 uumrdwfdwcynw
a% ?Mcm’la pesivd

5 4 Q—oo,ooo 440,000
169,500

= 2402529 Jow

-
-

g

- 325“(jww33«m3@

Capr)
N : el L Aeduigae ps collewfalayy
i U/;Qu_a e NPY madhed 6" C;:‘T‘ be w:’;at Fu\CLKM l'\v\.m,&J

sloove , WE Cam S&'&

on iF ey petthe NPV o T 22085

CamScanner


https://v3.camscanner.com/user/download

ng) We. an AVeR,
Ordineny chase = Tk 80,00, 000,
07/, Prcfoumce Shont = T 20,00.000
\4Y, Debedue = Tk 60,00,000
Showpite = Tk 20/Shore., Dividund of moxt eanl®) = TK: 2. [ohor.
Gt vao= SV, Tan Rak = 40/
Now, Cost oF Commor Sock(ke) = _9%0_?@ t Gt RAC | Cribiy

pvid.
D«;t(d»

- Z__+ 05
20
= o'l o lsy/
ug}G—FPrMaM: o, = 0'lo o
Cost st JutAf dobenhuu(Pe) = DcCl*TMK“@ ( Wr%% g

= o(1-04) = gr0gs o 840/

() weighed Av Cesh fked - \ ) sy
el Aunege Lok of S iy Conky gl b9

' o' 0750
Sinoot Shae 9000000  0°SO 015 '
?o\:; P:M Shae 20, 00,000 0’125 06 ogsf?_é:
wxm o 00,000 (375 0084 0 |
v ). - ' l__aqo = O,oq - qy
QY) Cms%(ﬁbﬁ%@%@s} 0 19( : ) é‘ s
- 2 - 3TK.
P\ukenl (DS«)‘ D"{— C})WHMSH s’fO(K kev) — %*‘Lfﬂ‘u W{nQT & i
): 24105 G= 5. (deyd)

ol e sk of Copit
Now, ravised Weightzd A’Vuwac (o sk el GHY - 34
< \XU/J— > Wei —_— 'ﬁa -
M) S (3 LC o 026 0'1000
Ordirong Shone B0,00,000 04Dl 00100
(7 refpbues Shave. 20,0000 010 0 0252
|47, Deboutua 6000000 0*30 o-%ifg 0°01€0
: 20 0
ww&mhiww 0

_'__—-———".—-f

20000000 |00 whee= 0'153L =15:32y,

ot

CamScanner


https://v3.camscanner.com/user/download

1.c)

MANAGEMENT AccOUNTING & FINANCAL MG
DIPLOMA IN TsLAme RANKING , N OV- 2022
SorUTIoNs OF QUESTIONS

Ref

Calculation of Cost

Amount in Tk.

N s wN R

10
11
12
13
14
15
16
17
18
19
20
21
22
23

Raw Material used
Direct Wages
Direct Expensses
Prime cost (1+2+3)
Factory Overheads
Indirect Material

Indirect Labour

Total Facotry Overheads (6+7)

Total Manufacturing Cost (4+8)

+WIP (BB)

-WIP (CB)

Cost of Goods Manufactured (9+10-11)
+Finished Goods(BB)

-Finished Goods (CB)

Cost of Goods Sold (12+13-14)

Fixed Administrative Expenses

Variable (10% of Prime Cost)

Total Administrative Expenses (16+17)
Fixed Selling Expenses

Variable (5% of COGM)

Total Selling Expenses (19+20)

Total Cost (15+18+21)

Sales [Total Cost/(1-Profit Rate]

40,000
28,000
70,000

138,000

(1400*20)

40,000

90,000
130,000|
268,000
50,000
60,000
258,000
140,000
80,000
318,000
60,000
13,800
73,800
30,000
12,900
42,900
434,700
511,412

Particulars

Raw material used

Work in Process-Beginning
Work in Process-Ending
Finished Goods-Beginning
Finished Goods-Closing

Direct Wages

Direct Expenses
Indirect Material
Indirect Labour
General & Administrative Expense:

Fixed

Variable
Marketing Expenses

Fixed

Variable 5% of Cost of Goods Manufactured
Profit 15% on Sales

40,000
50,000
60,000
140,000
80,000
1,400 Hours
@ Tk.20 per
Hour
70,000
40,000
90,000

60,000

‘ n
f
S
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4)

Month of 202A Sales Raw Material Wages Overhead
January 150,000 75,000 10,000 25,000
February 160,000 80,000 11,000 26,000
March 170,000 85,000 12,000 30,000
April 180,000 90,000 13,000 31,000
May 190,000 95,000 14,000 32,000
June 200,000 100,000 15,000 33,000
e Cash Budget April-June 202A
Particulars April May June| Quarter (April-June)
1 Cash in Hand (OB) 100,000 113,000 138,500 100,000
2=3+445 Sales 166,000 175,500 185,000 526,500
3 60% Current Month 108,000 114,000 120,000
4 20% Previous Month 34,000 36,000 38,000
S 15% Before Previous Month 24,000 25,500 27,000
6 Expenses:
7 Raw Material (2 Months Credit) 80,000 85,000 90,000 255,000
8 Wages (No Lag in Payment) 13,000 14,000 15,000 42,000
9 Overheads (1 Month Lag in Payment) 30,000 31,000 32,000 93,000
10 Plant 10,000 10,000 10,000 30,000
11 Research Expenditure 10,000 10,000
12 Hire Purchase 10,000 10,000 10,000 30,000
13 Payment of Tax 100,000 100,000
14 Dividend Income 50,000 50,000
15=2+14 | Total Cash Inflow 166,000 175,500 235,000 576,500
16=7 to13 | Total Cash outflow : 153,000 150,000 257,000 560,000
17=1+15-16 | Cash in Hand (OB+Inflow-Outflow) 113,000 138,500 116,500 116,500

-
1
E
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